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Multipliser desimaler med ti

7, 707 × 1000 = ________ 2, 23 × 1000000 = ________

1, 369 × 100000 = ________ 3, 363 × 10000 = ________

5, 663 × 10000 = ________ 3, 581 × 1000 = ________

4, 808 × 100000 = ________ 3, 09 × 100000 = ________

9, 456 × 1000000 = ________ 8, 01 × 10000 = ________

6, 585 × 1000000 = ________ 10, 711 × 100000 = ________

1, 571 × 100 = ________ 10, 616 × 1000000 = ________

5, 21 × 100 = ________ 3, 706 × 1000000 = ________

3, 299 × 1000 = ________ 8, 044 × 1000000 = ________

1, 495 × 1000 = ________ 8, 599 × 10 = ________
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser desimaler med ti

7, 707 × 1000 = 7707 2, 23 × 1000000 = 2230000

1, 369 × 100000 = 136900 3, 363 × 10000 = 33630

5, 663 × 10000 = 56630 3, 581 × 1000 = 3581

4, 808 × 100000 = 480800 3, 09 × 100000 = 309000

9, 456 × 1000000 = 9456000 8, 01 × 10000 = 80100

6, 585 × 1000000 = 6585000 10, 711 × 100000 = 1071100

1, 571 × 100 = 157.1 10, 616 × 1000000 = 10616000

5, 21 × 100 = 521 3, 706 × 1000000 = 3706000

3, 299 × 1000 = 3299 8, 044 × 1000000 = 8044000

1, 495 × 1000 = 1495 8, 599 × 10 = 85.99
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